/s
))!; ,(/’!’g r_l r!f./‘-
//-"'
s ('_[_r)')'f/
— o
\(}\Mn\ '
3 0 In
Tible 13- —> ANSIZ100= p= .25
Able -
C ____..___-————f"”lq x 12597 7100- - 240 ft/min
[ = e —— —
\VAL 12 |2 . (3‘0-04“'”)
A ‘ 0& 0.9 ' 25’0)
.08 o8 _(3-0:07P) | o x
H, = 0004' N‘ 8 N, ’}7 - 0.0‘74‘(”) 7
|
-2 H( = 59. 4 hr
- .Y 0.8
_ (000 Kr N\ ’j)
Hy = —————————
AY
Kr =
- HZ -: | | e e ——— - L
. Hab = $9.4 hp
- Yy pm —)
Table \F#-20 — Tope®/ avsi-1oe/ N Fco rp
avie
= N
Table VFT-2T —7 N, = 1+ — i
<, = 1.
?_- g"lrﬂncl.-—a l 2
To bl |3 -23 —
N 100 .48 hp sy
H. = KKz Hub = k1L F R STE = . il
a | \ S N :
—— - — ﬂ = 50O I‘lP (,L-f'..:;ﬂ) , Ke = |

e
- 2.02 ( o
100‘18‘:‘3‘0')(\)(’\& — "‘A—-
—
(e Ny —= H‘
Hd-’: Hhom S / ‘
= |, 2 (f.c!?:.,!’/,,._/)
> 5q4--s'ox{xné——v )
= Hs

Ny _

o - (S 5/@




S - . Nyt N A (N.'.“N\)
]‘ ‘3 L ‘:‘T\IC/P

|f_-f\"’ '

BUE "
So |F+ S | (S| - ) T ) _ -_?q_-:l‘ ‘e
~ _I:- N ‘ N 2SC
P |.1S0 ra ‘fﬂ‘;& SC/). _ J-
- y ! A : 7

M IS- 0? L 0.4 ' S0 00 0.4 -
HI/HZ, = |0@¢ [KY _F\TL) P (_IEE_) ( ) > ) ]
or Y 0.9 0.4 O’ﬁ']
X 4. F |00
Hl/}—‘]_ - (00U [':}'( ‘?r:o) XU.ZS‘) X( - ) &( > )
Hl——) h = 213%F, 35 hy
Hy — h = 12aea . Q6 hy
Ho — h= 673 .25 hr
/«-’f:{/,f*g‘*}&’j’
N = o
W s¢33.25 MY
\T—-Bel‘f‘
~ |
= >-d
g, = *—TSn —mc
-\.D__d
eD = A+ lgy\ ___;E"
~ - \/‘{.CL- (D"AJFL-Q'—‘{(DGD—\ 6{94)
C-}'JJ. —7 '_D_:B-——-a D=j5—X3=4’S‘ In
(Y J |
l ] 2F 51} =08K
0 A 1§ln_ﬂ—‘£= 7'(-’2-511 (0.3) = ,\—zxgéox)}
. ) o = ~ > x O y.l?—ﬂ-: 2R
6 ~N = ZSJ."\ 45— 1 - ,T-Q-Z-?Jn (0 5)-:-/\-1— Sié
ol 2 XSO

t L I5x0.8R) =
L = \/%(3’0)1— (4-?-\5‘) -'t-]i(at')")u_lm-{- )

Table 13- —s typeD—> Legrectin = -5 7 953

= [99+3.3 = R072.3

e h

[




- l L
Lo w 24 S(padyy 20
] . .\C'
\) l
Lp = oansoa Kases) y L2707 a8t ek
y a4~ YO
o Jo 02‘
T\. ' i p——— 'y — - < . » o ]“B*T*S'S'L
e 171 » f\_h ¢ D L\'”r‘*hh-u >. 3 L‘“a] -l
U;.f"' : ‘ - / ’ . - J
ol Ayl 202 Yh ek ko by L Pchsr 2
e ———— Al *
Mo = KK Maa,
.FQ!“L | -2 — Npe D —2 L
\J Rcln . M - 2 340 ?*/mwx

200 _2_:--—-
s (\ \b.\
— 2000
| _E_ﬂgi;.éf—‘f:": iﬁi——-——\ﬁ
Inerpe e = =S5 B -

:-__h.?- H'h\k:; = \qc’ '\P

.

m— —

D -d S 10 M)

Ti.\lr,a_ |-+-- \ X —_——>
C O

able 13-+t — hyye D —» IF3L{Z210 — K = 0.a5

Table 13-15 — Kg= |




- Fe
- Qulp (o.VIZS*\’)
Fe - Fo
,.." FI-FC 13 ? - 3
A= @y = C.FK — - - exp (031522 X° &)= =
['"1"" Fr
FC - K( (-—-—-——-\f B
\¢ 00
Table 13-16 —s typed — K¢ = 3.998 Ky, = S 630
g
— F. = 3 498§ (szs‘/roc-e) - 26.% 1%
OF = 63025 M4 /WL (3025 X SoxX\x 1,3/ _s¢. |
n (d/z) Joe X 15 /2
Fo= Fo+ OF exp(o.51234) o 156 (x@mw 2.6 _

exp(0.5123F) - | 3.6 -

\

R = Pt fe o 202580 o4 - 138
°> Z
T‘ d F\ B ‘:;‘ - 2.‘:\'2 5_'\' S'Gjo — 62' ? ”c:
_ K B
T2 = B Db = 2%T.5 + if;o = 3469.8 b
“' --ID —'l: -.\
vy - [T ]

Table 13- 17 — tNype D — K = 4208 , b=1. 105
N ( s YNy g —1es ~) Q
P [ cor.2) + (¢85 } = 2 R8P

. Nplp . X0 X 202
1 = Tr?.oV: 1 FI4 604 hws
i Fe X 2FA % L B
= 13 0D

b

2%2.

S

b




S; = -_%_ (OT)\.QYQJ
—> S_r: 'éo_—_—. c3.2 KfY -
’____——-———_/_’A____\-
s 3°X|06x't xtxl
Fy o = __¢£t — ol = [ 52310 - ___,_,_--————X
( ‘)o\ [S-F (l—\)l)D]t\L [ ('_01541)1‘*
pF = 28 _ 2A38 _ 25 o
1 X 6
3
F‘Z — (Fl)q-— QF - [ €3.3XI10 — R.TXIO 't]-t ~ S
6
<
F._: (F\)‘\*Fl — (gl)&-——éit [gg_’gxm,_%.'&)(lo t]t—]z 5
( = T
L - OF exp (IH)
A exp(Fk) - |
.. "n-d i@ »
Og= == ° S D?_nc e 23 T . x"'"’-g“\ (0_‘\-): R-Zx%xz.‘s
S QK?Q-S{_\#) = ‘Eio(r('?efj) = C.;(r(ogxﬁ ?‘7?.) = 2.02
o)
= b S & 2.0 _\ =, =002 7 £= 0006 TET
Min N 2. 02 =\
— L_/H'},G?ﬂ)bL
Toble VA-F — | 7 ‘
ST N B T B T
’?g':_-_f;_ F')_ o F R 0'0?.-?.‘;



\&
Table 1+-3 —»  Belw
5’39 | 3O ky?)’/ £=1F Mp% / J=0.1220

S‘F-: ,10 - S6.7F kp;')'

(;l) - [5'6 3 ’ 6
o\ Fxi0 - ——1’5_'?__5_1___ . G
(1- °-2301Jx"+] ATR) = {56-?9ﬂo —¢.5XI10 '&Jt

OF <« 25  |b

Fz = [S'G.? Klob-— ‘\'.53]06-&].{: 7S

F. - m _ 3
C [56.‘}:&!0 — ‘hfxloé't]{' - \2, 5

b _ 5 2.072
Min e X C =\ ___}7 O\—":O.OZ — ‘t-;_-_0,0\

A 2.02- |

TO..'!?[G__ \?—? —_— !,J/_}..U&?‘I,_M?me)bb




	New Doc 2020-05-30 18.18.39_1
	New Doc 2020-05-30 18.18.39_2
	New Doc 2020-05-30 18.18.39_3
	New Doc 2020-05-30 18.18.39_4
	New Doc 2020-05-30 18.18.39_5
	New Doc 2020-05-30 18.18.39_6

